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If you sell an asset such as bonds, shares, mutual fund
units, property etc; you must pay tax on the profit earned

from It.

This profit is called Capital Gains.

The tax paid on this capital gains is called capital Gains tax.

Conversely, iIf you make a loss on sale of assets, you incur a

capital loss




Types of Capital Gains...

Short _Term Capital Gains — If you sell the asset within

36 months from the date of purchase (12 months for shares

and mutual funds).

Long Term Capital Gains — If you sell the asset after 36 months

from the date of purchase (12 months for shares and mutual
funds).




But...

Income Tax laws have a provision of reducing the effective
tax burden on long term capital gains that you earn.

This provision allows you to increase the purchase price of
the asset that you have sold.

This helps to reduce the net taxable profit allowing you to

pay lower capital gains tax.

The idea behind this is inflation — since we know inflation
reduces asset value over a period of time.

This Dbenefit provided by Income Tax laws is called
‘Indexation’.




What is Indexation?

Under Indexation, you are allowed by law to inflate the cost of your
asset by a government notified inflation factor.

This factor is called the ‘Cost Inflation Index’, from which the word
‘Indexation’ has been derived.

This inflation index is used to artificially inflate your asset price.

This helps to counter erosion of value in the price of an asset and
brings the value of an asset at par with prevailing market price.

This cost inflation index factor is notified by the government every
year. This index gradually increases every year due to inflation.




How is cost-inflation index computed? ?

O The cost inflation index (Cll) is calculated as shown:

Inflation Index for year in which asset is sold

Inflation Index for year in which asset was bought

This index is then multiplied by the cost of the asset to arrive at inflated

cost.




So let us assume...

An asset was purchased in FY 1996-97 for Rs. 2.50 lacs
This asset was sold in FY 2004-05 for Rs. 4.50 lacs
Cost Inflation Index in 1996-97 was 305 and in 2004-05 it was 480

So, indexed cost of acquisition would be:

Rs. 2,50,000 X = Rs. 3,93,443




So...

Long Term Capital Gains would be calculated as:-

Capital Gains = Selling Price of an asset — Indexed Cost

I.e. Rs. 450000 — Rs. 393443 = Rs. 56557

Therefore tax payable will be 20% of Rs. 56557 which comes
to Rs. 11311.




Had it not been for indexation...

Capital Gains tax would have been as follows:-

Capital Gains = Selling Price of an asset — Cost of acquisition

I.e. Rs. 450,000 — Rs. 250,000 = Rs. 200,000

Therefore tax payable @ 10% of Rs. 200,000 would have come to
Rs. 20,000 !

S0 you save Rs. 8,689 in taxes by using the benefit of indexation




So...

0 You can pay tax on long term capital gains by either of the two

methods:-
— At the rate of 10% with indexation

OR

— At the rate of 20% without indexation

Therefore, you need to ascertain which of the two methods would

yield lower tax incidence on your capital gains.




Hope you have now understood

the concept of indexation benefit.
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The views expressed in this lesson are for information purposes only and do not construe
to be any investment, legal or taxation advice. The lesson is a conceptual representation
and may not include several nuances that are associated and vital. The purpose of this
lesson is to clarify the basics of the concept so that readers at large can relate and
thereby take more interest in the product / concept. In a nutshell, Professor Simply Simple
lessons should be seen from the perspective of it being a primer on financial concepts.
The contents are topical in nature and held true at the time of creation of the lesson. This
is not indicative of future market trends, nor is vEcoSys IMF Pvt. Ltd. attempting to predict
the same. Reprinting any part of this material will be at your own risk. vEcoSys IMF Pvt.

Ltd. will not be liable for the consequences of such action.

Mutual Fund investments are subject to market risks,

read all scheme related documents carefully.




